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B B 65 100 150 200 250 325 400 500
BeEE m°/h 4000 6000 9000 12000 [ 15000 | 19500 | 24000 | 30000
m°/min 66.7 100.0 150.0 200.0 250.0 325.0 4000 500.0
WINBIE Pa 500
REEE: KW 27.7 376 624 832 982 135.2 1664 2080
_|Z Bk E [ I/min 397 539 894 119.3 1408 1938 2385 298.1
B\ " EkEm kPa 142 38 152 282 42 7.1 9.2 130
o - B8 N KW 256 364 57.7 769 93.1 1239 1538 192.2
= BKE| |/min 36.7 52.2 82.7 110.2 1334 1776 2204 2755
@KER | kPa 15.0 35 12.7 235 38 5.7 78 109
REEE: KW 380 54.2 855 1140 1378 184.2 228.1 285.1
plg BAE[ I/min 545 777 1226 1634 1975 264.0 326.9 4086
| EIKIEH kPa 289 8.6 31.2 576 8.9 139 187 266
g0 g 7 KW 324 474 728 97.1 120.2 157.8 194.2 2428
B % @x 8| |/min 464 679 104.3 139.2 172.3 226.2 2784 3480
EKER kPa 20.1 64 217 400 6.6 9.8 130 185
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B B 65 100 150 200 250 325 400 500
BeEE m°/h 4000 6000 9000 [ 12000 | 15000 | 19500 | 24000 [ 30000
m°/min 66.7 100.0 150.0 200.0 2500 325.0 4000 500.0
WINBIE Pa 500
REEE: KW 277 376 624 832 982 135.2 1664 208.0
= Bk E [ I/min 397 539 894 119.3 1408 1938 2385 298.1
% BKER [ kPa 14.2 38 15.2 282 42 7.1 9.2 130
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REEE: KW 380 54.2 855 1140 1378 184.2 228.1 285.1
clg BAxE [ I/min 545 777 1226 1634 1975 264.0 3269 4086
| BKER [ kPa 289 86 312 576 89 139 187 266
g0 g 7 KW 256 364 57.7 769 9338 1239 1538 192.2
B % @x 8| |/min 36.7 52.2 82.7 1102 1344 1776 2204 2755
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